_ STHIESAR BETERERIIL b1
X 18 (K) 28 (&) 71H (K) 8H (K) 98 (&)
No. 10 ETREETR No. 17 INER RER No. 14 INER RER
<KEF> 242| < KB > 2|<ayRRY> 105
<&IF> 206| < &3> 206| < &3> 206
<Ip DL OBDEBT> <NV SAR> <KRFraovs>
& NI 45|45 &5 0.6]RFraxovy 60
L&S5H 0. 39| B ZEK A (FF0) 30} 6
Le35W 1.3 0.12
EE7 3] 1.3]cL &> 0.02|<FV—vvT—>
FOY#H 0.26|f-%h ¥ ] = 6
A INE 10.4|IcA LA 18|F ¥Ry 24
X 1.3|C oA 8loExo% 36
3 5.2|15F v v T 1.2[¥AR—TD% 0.12
HRRE—Y—R 1.8|1%& 0.24
<EFVYRYDLEVHZ> 8 L& 0.02
B ForRy P|ERAR—TDx
IZALCA 6]/ % <RyvFxvkE—a>
EpS5Y 6l=—HY > H5 4 0.6
S5 BLELIR 187293 AY—R FEh&E 12
RK#HY A 0.6 MEEB L (R—ZX F) 36
* LEVEH 0.6|<EDVTYR> BUWAFAT (R—Z F) 12
X=E ERRA—TDOHR 0.96
<5FH> b & 15 0.3
BA () 1441533 <BbL&50 L&D 0.02
TEIE 12195 5 432, GRER) 36
XiR |t=-FHh&E A—VRA—F 2.4
DEFELIAIZHL 12lkE—<> S| 1.2
2iE 18| 5 ¥
ko Tvd 3.6
ZIES 9.6]cL &S
L&HL 18| &F
T4 Y& 1.2
5 0.36|]<a—>HHL>
L&5W 2.4 KE%L
h&E 6| R—ILa—> &)
ERA—TOHR
b}
L&




_ SHTE AR BRETmEREEEAL p.2
X 128 (A) 138 () 148 (K) 158 (K) 166 (&)
No.b INERR R No. 11 INERR PR No. 8 INERR PR No. 12 INERR PR No. 19 INERR R
<XKB> 242| < KR > 282|<Y 7 hEE> 230| < k8> 22| < Bk > 105
<#F32> 206| < &3> 206| < 42> 206| < &3> 206|< &3> 206
<7ainoHEA> <YFSA4R> < Pk > <FroIr—> <HAFOFT FE>
E |72 0] AR 0.65| 45 41 0. 7|5k %) 78|45 & 0.65
15 0.12|f-Fh & BlLESA 0.28]4 > & 0.65|mEF 65
K5 1.8lIzA LA 1B|A (SvFA) 28| 2 ERA (F4) 32.5|t-Fh&E 32.5
bz MNEoA A IVET 39| FRnkE 1L12|=2< 51F (RS54 R) 1.56)IcA CA 13
T iE 2.4l k—a—> &) 6.5|f-FHhE 63[IzA LA 5.6l r<w Fy—2% 13
M L&S5K K] R CIAVIIC ING:-)) 3.9lizA LA 14lx+oL INrFrey T 6.5
SRLKE 0.6|xAX—TD%K 0.39]1F+9 Y 2.1z Blr<rE1—L 6.5
KHY A 2. 4|1 0. 13|Fb ez 8.4|L &S50 1.95|9zx4—v—=x 2.6
ZL&S 0.03|F A% 16.8|K# Y A 0. 78| 4 1.3
<BREABDOSFTE> TAH 3.5l 0.47|c A 0.65
B |ys5H: 0.6|<#sZLEH> L&D 0.04
TR (2cmAEY)) 24 C oAV NI<HFEE> - p:| 0.65|<*rRyDAL—VF—>
ZIES 12|15 0.24| k= 14 4|1Em 28 0.78| 45 &m 0.36
=7 (L RILE) 1212L &5 0.03| TA#H 1.44 FrRY 48
FLW =T (R—IL) 1.2 *K$ 0.6]<HF<DIWMR—F> F—<v 6
M IZA LA 1BI<KF Y RYDR—T> 3 1.4 F L U=1F (R—L) 0.6]c—ia—> &) 12
A5 18lizA A 9.6]|B% (¥X) 0.36]£9°< (&) 12|h L—# 0.12
b dE 1.44]% v Ry 36| B4 3.6|BHSR—TDE 0.96|t5 0.24
L&SK 2.4 Hy boqoF— 18]k .85 <L &S50 0.6]cL &S 0.02
T3 Y 0.6|HLAIFAE (W T) 8.4 b} 0.12
THVATFA B) [ B 0. 24|<VAHFADIFT YEHZ> Th# 1.2|<BEX—F>
ZL&S 0.2 HPVAITA (%) 12)i%& 50 24|R—a > 6
<ERT> HFRRA—TDE 0.96|K£+L )| F o5 oA 12| KR 24
IALCA 8.4 i 3.6 ITACA 12
ZDERET 8. 4| <ihR> 9 Y 0.36|<7n—vBYEHE> Conrdg 24
MNEIEFEZ (A) 8. 4|BR{HE /A 5159 <BL&LSW 2.16|&# (LML E) |BHELEH OF) 6
KFE CF) 6 KHY A 0.6]/%1> (LFLHF) U|ERR—TDE 1.2
9 Y & 1.8 BLZREY— (LB D) 36|t 0.24
18 0.36 ZL&S 0.02
S39<BbL&LIR 2.4
FEF5NAE 12 <y L>
BEHESFI v A 15




__ BMIFSARn BETREREREIL 03
X 198 (B) 208 () 218 (k) 22H (K) 23H (&)
No. 15 INFRR L R No. 7 INERR R No. 13 INERR PR No. 6 INER RER No. 9 INER RER
<KER> 242| < KR > 2021< Y 7 REE> 230 < kKAl > 22|< 'SV > 105
<&3F> 206 < 43> 206 < 43> 206 < 43> 206| < 43> 206
<KBEERAOEYD> <HhEH> <MBAAL—BHBAMT> <HLeHR> <Fyarvhr>
£ |RERACE 40|75 5 0.65|AW (B132) 28|95 & 0.6|% 5 &'l 0.65
KR | RERRA (FLD) 26| F LU= (Gh—IL) 0. 7| RERA CELD 24[Iz A1z < 0.26
s 1.04|L & 54 0.26liIcA LA 16.8|f=Fh & B|REBEA(T>FA) 39
L&KW 3.25|L &S50 0.65|~Fh&E 8|Lot=& 24|15 0.13
AHY A 1. 3| Ak E 0.52|:m#51F 4.2lIcA LA 121C2L &> 0.02
A & 0.07lzA LA 10. 4|1+3° Y &0 2.8|L oA Rt=Fh= 13
I+3°Y & 0.65|/~FhR&E 26)i& 0. 56| Fb#% 1. 44| &K= 13
EOVAITFA GB) 6.5|F LU=+ (Fh—IL) 0.78]L £ 58 42L& 50 3.6 RE—V—X 2.34
EL BT (R—L) 1.3|hL—# 0.56|1+9° U & 0.6|5Fvv 7 5.85
<IMREDZEHA> A Hh(FzAELK) 26| F HESHPWAITA CB) 6lFRESHSL 0.03
B |lizaca 8.4|lF o7y g 26| T A% 4.2
ZEDONH U|BHSX—Tn%E 0.65 <EREEH> <FTRNRZDYT—>
XEoL 30| mbHE 0.52|<*EFTDrBEBITF> EmED 60|v 3 & 0.36
I+3°Y & 0.36]1& 0.2|E+I 42 Y=V FRINSHR 12
5F<bL&LIW 2.16]C L &5 0.03]L £ 54 0.48|<7H 1) OEkMH > FrRy 42
# |JFuUcE 1.2|lL &5 1.56]L &£ 50 0. 84| X1R 18lx—ILa—> &) 8.4
SALKE 0. 52| FRnKR:E 1.2|HEY (LEH) 18 ¥ARXR—T D% 0.12
<LoBOEDBE (245) B> TAH 1.95| TA#H 36| ZADELIT 8. 4|15 0.24
f-FhRE 18| =i 0. 52| k% 1.2|BHF (4) 121CL &S 0.02
Cennrg 36 i 4.8|133 Y & 1.8
HS T 3.6|<{EEE> FKRHZ 4.8|<RF FX—F>
hy bhohsd 0.6|F&= 50|<EUF=L> B#&Z 4.8|R—a > 6
IT9 Y& 1. 8| S5t 6lhaE 6lfzFERE 24
FRAHT 9.6 ForUHYA 24 IZALCA 8.4
h&E 8. 4|<HhOR—T> AbPL 30 (MECY AT 48
FrRy 24|h—iLa—> (&) 6 HFRRA—TDE 0.96
<=z > ADELT 8. 4133 Y &R 0.36 15 0.24
REIEME N|BHSRA—Tn%E 0.96|&# Y A 0.6 L&D 0.02
& 0.24]33<KBL&L5B 2.16
L&D 0.02 <F—ZX>
5F<BELESW 0.6 *roT4F—X
hy kbhhd 0.6 BF—X 10




_ STHIESAR BETERERIIL b4
X 268 (A) 278 () 28H (K) 298 (K) 308 (&)
No. 3 INER R No. 2 S REED No. 18 INERRR R No. 16 EZREEDA No. 4 EZHEETR
<RKRER> 242| < K 8R > 20| < —gch#EqE > 230 < K8 > 22|<ayRIRU> 105
<#3> 206|<43L> 206| <43.> 206| < &3> 206| < &3> 206
<BRADFSHFE> <BFH> <EBS—*AY> <EBLBKMEITLOSE pA> <PHUDFr95— >
F  |BAR(2mAEY) 65|38A (F1:2) 39|45 & 0.7 5 % 0.65|R—a > 3.9
L&A 0.78|f=%hF 52lIz A1z < 0.28]L £ 54 0.65|f-%h* 39
LS50 0.39|IzA LA 13| REKRA CEL) 28I AsI= < 0.65}iIcA LA 19.5
BEL 1.3|r=1FEZ 1BlLESW 0.3|3&R (2cmAE) 65. 00| C oAV E 52.00
TAH 7.8|wb%E 1. 3| FARRE 0.7|f=FHE 2617H) (LEH) 26
A K 26]|59<BbLELIW 3.9lizA LA 14lx v Ry 261> 3.9
BLA— (3B 13|13V & 0.65|K++%L 221Kkt L 26|13 0F5—-x 5.2
B 7. 8]:& B 45 5|F<L 51F (RS54 R) LALES50 1.3 EAR—Tnx 1.04
Y 1.56 AT U BB 2.6|1& 0.26
L&5W 2.3|<IMREDH V=L > HHEESE NAEHAHY A 0.65]C L &5 0.02
B |FE%E 1.3|Ks%L N|EHSR—Tnx 1. 12| 5 %% 1.3|=r—#0U > 2.6
BHSR—T0O%H 0. 13|;mi51F 3.6 0. 28] &8 LBk 2.6|/h = 2.6
BIFE(LVY) 1.3|&R#&Y A 0.36]L £ 5n 4. 2| FH % 26|42 (GAER) 39
5F<KBLLEIRD 2.16]C L &S 0.04
< BgE > I+3° Y & 0.6|ra= TlkovFLxBEvroRo14> <EDHSH>
L7 PN 9.6]cF>o% 24 R 0.6]Fv~_Y 24
b ¥E 0.96 <VL150HLNET> PIYUFLRIE (HA) 4.8|lZFwS5Y 8.4
L&5W 0. 6|<Xx\DBE (¥5) HMH> 45 (A 58.5|IcA LA 840K ZEMWT) 8.4
IZALCA 9. 6] K18 30| ER kB 1.3|BDA A ILEIT 12| K=E (B T) 8.4
5<{H 9.6z =T 12lL &5 0. 78| B4 0.6]r—La—> &) 8.4
K EHhd 9.6|=rE 24]L £ 5 1.04|59<BL&ESH 1.8 FLyv vy (a—>) 8.4
s 0.48|1+3° Y & 1.8 TAH 9. 1|13 Y & 0.6
LS50 0.96|F &% 9. 6% 1.3 <TN—YRVF>
SPVAITA &) 6lHhy Fhhé 0. 6];m 6.5|<sERDITELH> O (LELEM) 24
ZADELEIT 6l/x1> (LEILK) 24
<EBH> <LeRnELnhEDDH> IZALA 6lhoTFILEY— &) 36
ZIES 9.6 -3 0. 2|5k 24
PN 24 Cenlrdg 3687 500 9.6
FLW:=F (R—IL) 0.6 IZALA 12|39 vE 1.8
ZDELET 8.4 E—<> 12|15 0.36
p:E=1vd 3.6 FTARE—Y—RX 1.2]59<BLLSW 2.4
=28 18 L&5W 0.6]cF>%i 9.6
I+3°Y & 1.8 15 0.12
e} 0.36 L&D 0.02|<EY—>
5<KbL&SW 2.4 s 1.2l =€ — 22
ZEDOH 12 i3 1.2
BIEWLY) 1.2
<€gy—>
SZEY—(FTEED)
+1)— 30




